

NO.PMU-CIDA/NIT/2017

PROJECT MANAGEMENT UNIT

CAPACITY BUILDING OF TEACHER TRAINING INSTITUTIONS & TRAINING OF ELEMENTARY SCHOOL TEACHERS IN SINDH GOVERNMENT OF SINDH **EDUCATION & LITERACY DEPARTMENT**

Karachi dated: 02nd May 2017

NOTICE INVITING TENDERS

Sealed tenders are invited as per SPPRA Rules 2010 (Amended 2013) from the interested contractors/ companies/ firms/ JV Firms on Standard Bidding Documents (SBD) for procurement of the following works:

S.#	Name of work Renovation and Rehabilitation of Govt. Elementary Colleges	Estimated Cost (in million)	Earnest Money 5% (in million)	Tender Fee	Completion period	
1.	Government College of Education Sukkur (Hostel Block)	26	1.3	3000	02 months	

PROGRAMME FOR ISSUE/ RECEIPT AND OPENING OF TENDERS

S. #	Particulars	1 st Attempt	In case of un-responded works 2 nd Attempt
1.	Date of issue	03-05-2017	22-05-2017
2.	Date of opening	19-05-2017	08-06-2017

TERMS & CONDITIONS OF THE TENDERS

- 1. A complete set of bidding documents may be purchased (in shape of pay order) with effect from 03-05-2017 upto18-05-2017 (1st Attempt) & from22-05-2017 upto 07-06-2017 (in case of un-responded/ 2nd attempt) by interested bidders on submission of written application to the undersigned.
- No conditional tenders will be entertained.
- 3. Sealed bids accompanied with the earnest money as mentioned against each, in shape of Pay Order must be submitted in the office of undersigned on or before 19-05-2017upto 3:30 p.m.(1st Attempt) & on 08-06-2017upto 3.30 p.m. (in case of unresponded/2nd attempt)
- 4. Bids will be opened by the Procurement Committee of "Capacity Building of Teachers Training Institutions & training of Elementary School Teachers in Sindh - CIDA" in the presence of bidders'/ representatives of bidders on 19-05-2017 at 4:00 p.m.(1st Attempt) & 08-06-2017 at 4.00 p.m. (in case of un-responded/ 2nd attempt) in the committee room of Education & Literacy Department, 3rd floor old KDA building, Sindh Secretariat No.3, Karachi.
- 5. The competent authority reserves the right to reject all or any bids subject to the relevant provisions of Sindh Public Procurement Rules, 2010. (Amended 2013)
- 6. In case of holiday the tenders/bids would submit and open on the next working day and time.
- 7. Eligibility condition of intending participants are as under:
 - a. Registration with Pakistan Engineering Council in Category C-5 or above having valid license with civil and allied electrical codes.

b. Registration with Sindh Revenue Board.

c. Bio Data of Engineers and Technical staff working with the firm (for engineers their PEC certificate must be attached).

d. Documentary evidence of similar works executed and certificate of satisfactory completion of works by the employees. Particularly same nature of works.

- e. List of work in progress indicating cost of each work and copy and letter of award of work.
- List of Machinery and equipments available with documentary evidence of its ownership or hired with rental agreement
- g. Documentary evidence of financial position, bank statement OR audit report of last 03 years.
- 8. Registration with Income Tax Department (NTN Certificates) and copy of CNIC.
- Undertaking on Affidavit that firm is not involved in any litigation or abandoned any work in the department.
- Affidavit to the effect that the firm contractor have not been black listed previously by any executing agency.
- Affidavit to the effect that all documents/ particulars/ information furnished, are true & correct.
- 12. In case of firm/JV Firms, list of partners/ partnership deed/ JV deed, giving full particulars Proprietors or others connected along with power of attorney. In case of being sole Proprietors, such undertaking on Affidavit be furnished.

PROJECT DIRECTOR

Capacity Building of Teacher Training Institutions & Training of Elementary School Teachers in Sindh – CIDA Education & Literacy Department, Govt. of Sindh, Karachi

BIDDING DATA

(This section should be filled in by the Engineer/Procuring Agency before issuance of the Bidding Documents. The following specific data for the works to be tendered shall complement, amend, or supplement the provisions in the Instructions to Bidders. Wherever there is a conflict, the provisions herein shall prevail over those in the Instructions to Bidders.)

Instructions to Bidders Clause Reference

1.1 Name of Procuring Agency PROJECT DIRECTOR (CAPACITY BUILDINGOF TEACHERS TRAINING INSTITUTIONS & TRAINING OF ELEMENTARY SCHOOL TEACHERS IN SINDH (CIDA)

Brief Description of Works _ Repair, Renovation & Rehabilitation of GCE Sukkur

- (a) Procuring Agency's address: 3rd floor, Sindh Secretariat No.3, old KDA Building, Karachi.
 Phone No: 99217352
 - (b) Engineer's address: Mr. Haji Parpio SAhito, Project Engineer, 3rd floor, Sindh Secretariat No.3, old KDA Building, Karachi.
- 10.3 Bid shall be quoted entirely in Pak. Rupees. The payment shall be made in Pak. Rupees.
- 11.2 The bidder has the financial, technical and constructional capability necessary to perform the Contract as follows: (Insert required capabilities and documents)
 i. Financial capacity: (must have turnover of Rs 20 Million):
 - ii. Technical capacity: (Firm must be registered with PEC' under category C-5 & above having valid license with civil and allied electrical codes, registered with Sindh Revenue Board & Income Tax department);
 - iii. Construction Capacity: (mention the names and number of equipments required for the work).

- 12.1 (a) A detailed description of the Works, essential technical and performance characteristics.
 - (b) Complete set of technical information, description data, literature and drawings as required in accordance with Schedule B to Bid, Specific Works Data. This will include but not be limited to a sufficient number of drawings, photographs, catalogues, illustrations and such other information as is necessary to illustrate clearly the significant characteristics such as general construction dimensions and other relevant information about the works to be performed.

13.1 Amount of Bid Security

5% Bid Security

14.1 Period of Bid Validity

90 days

14.4 Number of Copies of the Bid to be submitted:

One original plus 01 copy.

14.6 (a) Procuring Agency's Address for the Purpose of Bid Submission

3rd floor, Sindh Secretariat No.3, old KDA Building, Karachi.

15.1 Deadline for Submission of Bids

Time: 3.30 PM on 19-05-2017

16.1 Venue, Time, and Date of Bid Opening

 Venue: Committee room of Education & Literacy Department, 3rd floor old KDA building, Sindh Secretariat No.3, Karachi.

Time: 4:00 PM Date: 19-05-2017

16.4 Responsiveness of Bids

(i) Bid is valid till required period,

- (ii) Bid prices are firm during currency of contract/Price adjustment;
- (iii) Completion period offered is within specified limits,
- (iv) Bidder is eligible to Bid and possesses the requisite experience, capability and qualification.
- (v) Bid does not deviate from basic technical requirements and
- (vi) Bids are generally in order, etc.
 - (a) Fixed Price contract: In these contracts no escalation will be provided during currency of the contract and normally period of completion of these works is upto 12 months.

CAPACITY BUILDING OF TEACHERS TRAINING INSTITUTIONS

&

TRAINING OF ELEMENTARY SCHOOL TEACHERS IN SINDH (CIDA)

REPAIR, RENOVATION & REHABILITATION OF GOVT. COLLEGE OF EDUCATION SUKKUR

BIDDING DOCUMENTS

VOLUME 1

SCHEDULE OF PRICES - SUMMARY OF BID PRICES

Cost of Hostel Block (Civil)	
Cost of Hostel Block (W/S & S/F)	
Cost of Hostel Block (Electrical Work)	
¥	
Total Bid Price (The amount to be entered in P (In words).	Paragraph 1 of the Form of Bid)
	& S/F) Cost of Hostel Block (Electrical Work) Total Bid Price (The amount to be entered in P

CONTRACTOR

PROJECT DIRECTOR
SETTP-CIDA
EDUCATION & LITERACY DEPARTMENT
GOVT. OF SINDH KARACHI

PROJECT DIRECTOR
Capacity Building of Teachers
Training Institutions of Mid Education and
Training Training Focusion, Teachers in Sindh.

CONTRACT DATA

Sub-Clauses of Conditions of Contract

- 1.1.3 Deleted
- 1.1.4 The Procuring Agency means PROJECT DIRECTOR (CAPACITY BUILDINGOF TEACHERS TRAINING INSTITUTIONS & TRAINING OF ELEMENTARY SCHOOL TEACHERS IN SINDH (CIDA)
- 1.1.5 **The Contractor** means firm to perform services
- 1.1.7 Commencement Date means the date of issue of Engineer's Notice to Commence which shall be issued within fourteen (14) days of the signing of the Contract Agreement.
- 1.1.9 Time for Completion 02 months
- 1.1.20 Engineer (mention the name along with the designation including whether he belongs to department or consultant) and other details

:Mr. Haji Parpio Sahito, Project Engineer, SETTP-CIDA Education & Literacy Department; 3rd floor, Sindh Secretariat No.3, old KDA Building, Karachi.

- 1.3 Documents forming the Contract listed in the order of priority:
- (a) The Contract Agreement
- (b) Letter of Acceptance
- (c) The completed Form of Bid
- (d) Contract Data
- (e) Conditions of Contract
- (f) The completed Schedules to Bid including Schedule of Prices
- (g) The Drawings, if any
- (h) The Specifications
- (i)
- (j) ____

- 2.1 Provision of Site: On the Commencement Date
- 3.1 Authorized person: PROJECT DIRECTOR (CAPACITY
 BUILDINGOF TEACHERS TRAINING INSTITUTIONS &
 TRAINING OF ELEMENTARY SCHOOL TEACHERS IN SINDH
 (CIDA)
- 3.2 Name and address of Engineer's/Procuring Agency's representative

Mr. Haji Parpio Sahito, 3rd floor, Sindh Secretariat No.3, old KDA Building, Karachi.

4.4 Performance Security:

Amount 8% (Bid Security 5 % will be considered as performance security)

Validity 12 MONTHS

(Form: As provided under Standard Forms of these Documents)

5.1 Requirements for Contractor's design (if any):

Specification Clause No's_____

7.2 Programme:

Time for submission: Within fourteen (14) days of the Commencement Date.

Form of programme: (Bar Chart/CPM/PERT or other)

- 7.4 Amount payable due to failure to complete shall be 0.05% per day up to a maximum of (10%) of sum stated in the Letter of Acceptance
- 7.5 Early Completion DELETED.
- 9.1 Period for remedying defects 06 MONTHS
- 10.2 (e) Variation procedures:

Day work rates (details)

- 11.1 Terms of Payments
 - a) Mobilization Advance
 - (1) Mobilization Advance up to 10 % of the Contract Price stated in the Letter of Acceptance shall be paid by the Procuring Agency to the Contractor on the works costing Rs.2.5 million or above on following conditions:

- 11.3 Percentage of retention: five (5%)
- 11.6 Currency of payment: Pak. Rupees
- 14.1 Insurances: (Third Party Insurance)

Type of cover

The Works

Amount of cover

The sum stated in the Letter of Acceptance plus fifteen percent (15%)

Type of cover

Contractor's Equipment:

Amount of cover

Full replacement cost

Type of cover

Third Party-injury to persons and damage to property

Rs. 500,000 per person

14.2 Amount to be recovered

Premium plus percent (_%).

15.3 Arbitration**

Place of Arbitration: Local Jurisdiction (Place of Performing Work/Contract)

BILL OF QUANTITIES

Discription and Rate of Items based on Composite Schedule of Rates

NAME OF WORK :- REPAIR / RENOVATION & REHABILITATION OF GOVERNMENT COLLEGE OF EDUCATION SUKKUR. (HOSTEL BLOCK)

Item No.	Description of item to be executed at site	Quantities	Rate	Units	Amount
140.	PART "A" SCHEDULE ITEMS				
1	Dismentling cement concrete rainforced separaiting	5155	5445.00	%Cft	280690
	raiforecement from concrete clearing and straightnig the same				
	(C.S.I No:20 P-11).	00500	101.00	100	0.1505
2	Removing cement or lime plaster (C.S.I No:53 P-14).	28566	121.00	%Sft	34565
3	Dismentling cement concrete plain 1:2:4 (C.S.I No. 19 (c) P-11).	1933	3327.50	%Cft	64321
4	Dismentling brick work in lime or cement plaster (C.SI No:13 P-10).	4733	1285.63	%Cft	60849
5	Excavation in foundation of building bridges and other structure including dressing refeling arround structure with excavated earth watering and ramming lead upto one chain and lift upto 5ft (b) in ordinary soil(C.S.I No:18 (b)P.5.		3176.25	%OCft	10825
6	Cement concrete brick or stone ballast 11/2" to 2" guage ratio 1:4:8 (C.S.I No: 4 (b) Page No:15)	707	9416.28	%Cft	66573
7	Rein forced cement concrete work including all labour and material except the cost of steel reinforcement and its labour for bending and binding which will be paid sepretely this rate also includes all kinds of forms moulds:lifting shuttering curing rending and finishing the exposed surface (including screening and washing of shingle) (a) RC work in slabe bams columns rafts lintels and other structural members laid in situ or pre cost laid in position complete in all respects. (I)Ratio (1:2:4) 90 Lbs cement 2 Cft. sand 4 Cft . shingle 1/8" to 1/4" guage.(C.S.I No:6)		337.00	P.Cft	640974
	A (1) P.19). FIRST FLOOR	2149	349.10	P.Cft	750216
_	SECOND FLOOR	2048	361.20	P.Cft	739738
8	Fabrication of Tor steel reinforecement for cement concrete including cutting bending and laying in position making joints and fastings including cost of binding wire also includes removal of rust from bars (C.S.I No:7 B P.20).	354.076	5001.70	P.Cwt	1770982
9	Pacca brick work in foundation and plinth in cement sand mortor ratio 1:6(C.S.I No:4 (e) P.21).	758	11948.36	% Cft	90569
10	Filling watering and raming earth in floor with surplus from foundation lead upto one chain and lift upto 5ft. (C.S.I No: 21 P.4).	1136	1512.50	%Ocft	1718
11	Filling watering and raming earth under floor with new earth excavated from outside lead upto on chain and lift upto 5ft. (C.S.I No: 22 P.4).	1232	3630.00	%Ocft	4472
12	Extra Lead for Three Mile	1232	579.41	%Cft	7138
13	Pacca brick work in ground floor in cement sand mortor ratio: (C.S.I No: 5 (e) Page No: 21)	1041	12674.36	% Cft	131940
	Frist Floor	1041	13112.86	% Cft	136505
	2nd Floor	520	13684.74	% Cft	71161
	Applying & Flooting coat of cement 1/32" thick (C.S.I No:14 P- 59).	25566	660.00	%Sft	168736
15	Cement plaster upto 20' height 1/2" thick rario 1:6 (C.S.I No: 13 (b)Page No: 58).	14877	2206.60	%Sft	328276
	FIRST FLOOR	18307	2308.85	%Sft	422681
-	SECOND FLOOR	12677	2411.10	%Sft	305655
	Cement plaster upto 20' height 3/8" thick rario 1:4 (C.S.I No: 11 (b)Page No: 58).	14877	2197.52	%Sft	326925
	FRIST FLOOR	18307	2299.77	%Sft	421019
С	2nd FLOOR	12677	2402.02	%Sft	304504



				T T	
	Description of item to be executed at site	Quantities	Rate	Units	Amount
	Providing and fixing G.I frames /Chowkates 7"2" or 41/2" x 3" for door using 20 guage G.I sheet i/c welded hinges and fixing at site with necessary hols fast filling with cement sand slurry of ration 1:6 and reparing the jambs. Cost also i/c all carrage tools and plants used in making and fixing (C.S.I No:29 P.98).		228.90	P.Rft	228900
18	Providing and fixing G.I frames /Chowkates 7"2" or 41/2" x 3" for windows using 20 guage G.I sheet i/c welded hinges and fixing at site with necessary hols fast filling with cement sand slurry of ratio 1:6 and reparing the janbs. Cost also i/c all carrage tools and plants used in making and fixing (C.S.I No:28 P.98).		240.50	P.Rft	72872
19	Cement Concrete plain including placing compacting finishing and curing complete including screening complete and washing of stone agreegate without shuttring Ratio: 1:2:4. (C.S.I No. 5 (a) Page No:18)		14429.25	%Cft	341973
21	Providing and fixing 3/8" thick marble tiles of approved quality and coloum shade size 8" x 4/6" x 4" in dado skitring and facing removal / tucking of exiting plaster surface etc over 1/2" thick base of cement mortor 1:3 setting mortor base including filling the joints and washing of tiles with white cement slurry current finishing cleaning and polishing etc complete (for new work) (C.SI No: 68 (i) P-49).		186.04	P.Sft	425473
22	First class deodar wood wrought joinery in doors and windos etcfied inosition I/c in chwoakts holds fasts hings iron tower bolts chowks cleats handles and cards with hooks etc Deodar paneled or paned are fully glazed 1/3/4"only shutter (C.S.I No:7 (b) P.65).		902.93	P.Sft	1695703
23	Providing and lying 2" thick topping cement concrete 1:2:4. Including surface finishing dividing into panels (C.S.I No:16 (d) P-47).		3430.83	%Cft	91363
	2nd Floor	2663	3657.86	%Cft	97409
24	Two coats of bitumen laid hot using 34"Lbs for 100sft over roof and blinded with sand at 1Sft per 100sft (C.S.I No:13 P.35).	5326	1887.40	%Cft	100523
25	Suppling and fixing in position iron steel grill of 3/4"x 1/4" size flate iron of approved design I/c painting three coats etccomplete weightg not less than 3.7 lbs of finshed grill (C.S.I No:26 P.97).		180.50	P.Sft	23646
26	Making & fixing Steel Grated doors complete with lacking arrangement angle iron frame 2"x2" 3/8" and 3/4" sq: bars 4" centre to centre (C.S.I No:24 P-97)	96	726.72	P.Sft	69765
27	Providing and fixing collapisble gate with channel framing of section 1/4" x 5/16" at 4" I/c revitted with 1/4" x 5/8" flate iron patti placed diagonally and provided with top & bottom T-section 1"x 1" 1/8" aqlon with roolers also I/c locking arrangement and fixing in floor /celling or wall etc completed (C.S.I No:32 P-99).		387.04	P.Sft	92890
28	Providing & fixing deodar almirah 9" - 12" depth including boxing with back shelves shutters brass fitting complete (CSI No.23 P-61)		1778.50	P.Sft	1422800
29	White glazed tile 14" thick dado jointed in white cement and laid over 1:2 cement sand mortor 3/4 " thick including finishing (C.S.I No:37 P-45).		28253.61	%Sft	849869
30	Laying floor of approved with glazed tile 1/4" thick in white cement 1:2 over 3/4: thick cement mortor 1:2 complete (C.S.I No:24 P-43).		27678.86	%Sft	388888
31	Rain forcement concrete spout including fixing in position 2 1/2" x 6" x 5" (C.S.I No:14 P.18).	20	261.25	Each	5225
	Rain forcement concrete spout including fixing in position with	20	524.98	Each	10500
32	top and bottom Khunas (C.S.I No: 27 P.19).			1 1	
32	Providing & Fixing sliding bolt to doors iron sliding bolts 10" long (C.S.I No:19 A (i) P-60). Making and fixing icleates for doors and windows including	200	203.90	P.Nos	40780

Training Elementary Schools feacurers in Sindh.

Capacity Building of MIO Education and Training Institutions of MIO Education and Training Elementary Schools Teachers in Sindh.

Training Elementary Schools Teachers in Sindh.

	Description of item to be executed at site	Quantities	Rate	Units	Amount
	Providing and laying cement ornamental cement jalli 2" thick 1:2:4 without steel (C.S.I No:11 P.18).	1257	226.02	P.Sft	284107
37	Cement pointing strucking of joints of walls ratio 1:2 (C.S.I No: 19 (a) Page. 53)	15210	1287.44	%Sft	195820
38	Replacing kaller eaten bricks (S.I No. 57 P-105).	4800	36.63	Each	175824
39	P/F Fixing paving blocks flooring having size of 197x97x60 (mm) of city / guddra / cobble shape with pigmented having strength b/w 5000 psi to 8500 psi i/c filling the joints with hill sand and laying in specified manner / pattern and design etc complete (C.S.I No. 74 P-50).		223.97	P.Sft	907079
40	White wash three coats (C.S.I No:26 (c) P-60).	12853	829.95	%Sft	106673
41	Primary coat of chalk under destember (C.S.I No:23 P-54).	52590	442.75	%Sft	232842
42	Destember three coats (C.S.I No:24 (c) P-54).	52590	1079.65	%Sft	567788
43	Preparing the surface and painting with weather coat I/c rubbing the surface with rubbing brick / sand Paper, filling the voids with chalk/ plaster of Paris and then painting with weather coat of approved make. Three coats (CSI No. 38 (c) P. No. 56)	15210	2567.95	%Sft	390585
44	Painting doors and windows any type two coats (C.S.I No:4 (c) (ii) P-76).	11640	2116.41	%Sft	246350
45	Painting guard bars gats iron bars grating rating including standard braces etc and smiller open work three coat (C.S.I No: 5 (d) (iii) P-70).	3000	1270.83	%Sft	38125
			TOTAL		16289223

PART "B" WATER SUPPLY & SANITARY FITTINGS

	PART B WATER SUPPLY & SANITARY FITTINGS				
1	Providing & fixing squating type white glazed of flushe cisten with internal fitting&flush pippe with bend and making requesite numbers of holes in wall plinth & floor for pipe conection & making good in cement concrete 1:2:4. W.C not less than 19" clear opening between flushing rims and 3 gallons flushing tank		4802.60	Each	72039
	with4" dia C.I trap with C.I thumble. (S.I No:1 (b) i P-No:1)				
2	Providing & fixing 24" x 18" lavatory basin in white glazed earthen ware complete with & I/c the cost of W.I or C.I cantilever brackets 6 inches built into wall, painted white in two coast after a primary coat of red lead paint, a pair of 1/2" dia rubber plug & chrome plate brass chain 1-1/4" dia malloable iron or c.P brass traps malloable iron or brass unions and making requisite number of holes in walls, plinth & floor for pipe connection and making good in cement concrete 1: 2: 4 (Standard pattern). (S.I No:8 P-No:3).		4253.70	Each	63806
3	Add: extra labour for providing and fixing of earthen wire padestle whiute or colored glass standared pattern (S.I No:9 P-No:3).	15	938.47	Each	14077
4	P/F in position nyloon connections complete with 1/2"dia brass stop cock with pair of brass nuts and lining joints to nyloon connection (S.I No:23 P-No:6).	30	447.15	Each	13415
5	P/F 6" x 4" c.c gully trap with 4" dia out let complte with 4" thick 1:2:4 c.c for bed and 1/2" thick cement plaster 1:3 to the karb c.l caning 6" x 6" and c.l cover and frame 12" x 12" in side etc complete (S.I No:1(a-i) P-No:21).	20	1193.17	Each	23863
6	P/F 4"dia C.I soil and vent pipes including cutting and fitting and extra painting to match the colour of the building (S.I No:1 P-No:9).	500	333.29	P.Rft	166645
6	RCC pipe with colar class "B" and didding the traches to the required depth an fixing in positin I/c cutting fitting and jointing with max phalt composition and cemen mortor 1:1 and testing with water presure to head of 4 Ft aboe the top of the heigh				
	4"dia	100	146.57	P.Rft	14657
_	6"dia	100	199.25	P.Rft	14007



	Description of item to be executed at site	Quantities	Rate	Units	Amount
	Providing & fixing 6" x 2" or 6" x 3" C.I floor trap of the approved	15	2042.43	P.Rft	30636
	selt cleaning design with a C.I scrrewed down gratting with or			1	
	without a vent arm complete with & I/c making requisite number			1	
	of holes in walls, plinth & floor for Pipe connections & making			1 1	
				1	
8	good cement concrete 1:2:4. (S.I No 20 Page No.3). Providing G.I Pipes, specials, and clamps etc, including fixing			+	
0				1	
	cutting & fitting complete with and I/c the cost of breaking				
	thorugh walls and roof, making good etc. painting two coats			1 1	
	after cleaning the Pipe etc. with white zink paint with pigment to	1		1	
	match the colour5 of the building and testing with water to a			1 1	
	pressure head of 200 feet and handling. (SI No. 1 Page No.12)				
1	1/2"dia	300	73.21	P.Rft	21963
ii	3/4"dia	450	95.79	P.Rft	43106
iii	1"dia	200	128.55	P.Rft	25710
vi	1-1/4" dia	150	153.19	P.Rft	22979
9	Add : Extra labor for concealed G.I pipe and Fitting i/c making				
	recess in the wall for pipe and making good in Cement motor			1 1	
	etc Complete	222	7.00		4504
	1/2" dia	200	7.82	P.Rft	1564
40	3/4" dia	300	8.45	P.Rft	2535
10	Providing and fixing full way gun metal values with wheels threaded or flanged ends with rubber washing (b) standared			1 1	
	pattern (Note standared Manufacture by M/S Anwar Mechnical			1 1	
	works (S.I No:4 (b) P-No:17).			1 1	
	1/2"dia	15	161.92	Each	2429
	3/4 dia	15	227.92	Each	3419
11	S/F concelled stop cock of superior quality with crystal head	60	478.28	Each	28697
	head 1/2" dia (S.I No:11 (b) P-No:18).				
12	S/F long bib cock of crystal head with c.p head1/2" dia (S.I	50	1109.46	Each	55473
	No:13 (b) P-No:19).		110000000000000000000000000000000000000		2-6-9-04-01-03-1
13	S./F wash been mixture of superior quality with c.p head 1/2"	15	2882.00	Each	43230
	dia with crystal head (S.I No:16 (b) P-				
	No:15).				
15	Supplying & fixing Bath room accessories set (7 pieces I/c towel	10	8122.40	Each	81224
	rod, brush hloder, soap tray, shelf of approved quality and				
	design etc complete. (Si No: 22 P-No:19)			$\overline{}$	
16	P/F handle values (China) (S.I No:7 P-No:14).			_	
1	1/2" dia	16	274.02	Foot	4070
ii	3/4" dia	15	271.92	Each	4079
iii	1" dia	15	365.42 TOTAL	Each	5481 760

PART "C" PUBLIC HEALTH ENGINEERING

	drawing (SI No. P Page No. 46). (PHE) PROJECT DIRECTOR PROJECT DIRECTOR PROJECT DIRECTOR		TOTAL	:-	94158
	(457x457 mm) of 1.75 Cwt. (88.9 Kg) embedded in plain C.C 1:2:4 and fixing I" (25 mm) dia M.S steps 6' (150 mm) waide projecting 4" (102 mm) from the face of wall at 12" (305 mm) C.C dully painted etc. complete as per spacification and drawing (SI No. P Page No. 46). (PHE)	OJECT pacity Build ng Institution pn Elementary	nno of feathers in S schools Teachers in S	and Indh.	
	in cement motor 1:3 cement plaster 1:3, 1/2' thick inside of walls and I" (25 mm) thick over benchingh and channel i/c fixing CI manhole cover with fram of clear opening 1-1/2' x 1., 1/2'		ere Fred 1 at		
2	Constructiong manhole or inspectionchamb er for the required dia of circular sewer and 3'-6" (1067 mm) dpth with walls of BB	10	14748	Each	147480
	10"dia	400	1375.00	R.FT	550000
	6"dia	250	486.00	R.FT	121500
	4"dia	300	226.00	R.FT	67800
	3"dia	400	137.00	R.FT	54800
	testing with water to head of 122 metere or400ft. (S.I.No:3 Page No:23)				
	i/c cutting fitting and jointing with "Z" joint with one rubber Ring i/c				
1	Providing PVC Pipes of class D equalvalent make) fixinbg in trench				

PROJECT DIRECTOR

Capacity Building of Teachers

Capacity Building of Teachers

PART "D" ELECTRIC WEW SCHEDULE ITEMS 2013 Indh.

Training Elementary Schools FMS 2013 Indh.

P	Description of item to be executed at site	Quantities	Rate	Units	Amount
	Wiring for light or fan point with 3/.029 PVC insulated wire in 20mm	150	1130	per point	169500
	(3/4") PVC conduit recessed in the wall or column as required.				
	(S.No. 124 P-15).				
2	Wiring for plug point with 3/.029 PVC insulated wire in 20mm (3/4")	20	985	per point	19700
	PVC conduit recessed in the wall or column as required. (S.I.No:126 P.			100 0	
	No:15)				
3	Wiring for call bell point with 3/.029 PVC insulated wire in	2	1764	per point	3528
	20mm (3/4") PVC conduit recessed in the wall or column as required.				
	(S.I.No:126 P- No:15)				
4	Providing & laying (MAIN or SUB MAIN) PVC insulated with size 2-		222	per Meter	66600
	7/.029 copper conductor in 3/4" dia PVC conduit recessed in the wall				
	or column as required. (S.I.No:10 P- No:2)				
5	Providing & laying (MAIN or SUB MAIN) PVC insulated with size 2-	100 C 100 C 100 C	252	per Meter	75600
	7/.036 copper conductor in 3/4" dia PVC conduit recessed in the wall				
	or column as required. (S.I.No:11 P- No:2)		25000		
6	Providing & laying (MAIN or SUB MAIN) PVC insulated with size 2-		341	per Meter	170500
	7/.044 copper conductor in 34" dia PVC conduit recessed in the wall				
	or column as required. (S.I.No:11 P- No:2)				
7	Providing & fixing circuit breaker 6,10,15,20, 30,40,50 & 63amp SP	30	916	Each	27480
_	(TB-5S) on prepared board as required (S.I.No:202 P- No:30)				
8	206. Providing & fixing circuit breaker 15,20, 30,40,50 & 60amp TP	2	5521	P.No	11042
	(XE-100CS[CB]) on prepared board as required. (S.I.No:206 P-				
0	No:31)			+	0001
9	Providing & fixing circuit breaker 15,20,30, 40,50,60,75 & 100amp	1	9261	P.No	9261
	TD (VC 100)(0) 11 1 1 1 1 (C1)(100 D 2) 201				
	TP (XS-100NS) on prepared board as required (S.I.No:207 P- No:31)	20	0.2	D.V.	4000
10	Providing & fixing two pin 5amp plug & flush type (S.I.No:225 P-	20	83	P.No	1660
1	No:33) Providing & fixing three pin 10/15amp plug & socket flush type	15	162	P.No	2430
1	(S.I.No:222 P- No:33)	13	102	F.No	2430
2	Providing & fixing one way SP 5amp switch flush type(S.I.No:219 P-	150	54	P.No	8100
-	No:33)	130	54	r.ino	0100
3	Providing & fixing Bakelite ceiling rose with two terminals	32	72	P.No	2304
3	(S.I.No:228 P- No:33)	32	12	1.100	2304
4	Providing & fixing Brass Ceiling fan 56'' (good quality) (S.I.No:235 P.	60	3185	P.No	191100
	No:34)		5105	1.1110	101100
5	Providing & fixing Brass Bracket fan 18" (good quality) (S.I.No:236	10	2791	P.No	27910
	P- No:34)				
6	Providing & fixing Brass Battern holder c(S.I.No:232 P- No:33)	19	70	P.No	1330
7	Providing & laying (MAIN or SUB MAIN) PVC insulated with size 2-	200	428	P.Mtr	85600
	7/.052 (10 mm2) copper conductor in 1" dia PVC conduit on surface	201000		Salondrapa	
	(S.I.No:6 P- No:1).				
8	Providing & Fixing of flood light 400 watts (HPIT) having IP65	4	16980	P.No	67920
	classification with 400w lamp, choke, capacitor, igniter & Internal				
	wiring complete in all respect at the height up to 40ft with the help				
	hydraulic crane and manual labour as per site requirement and				
	instruction of EI (S.I.No:164 P- No:26)				
9	Providing & laying (MAIN or SUB MAIN) PVC insulated & PVC	95	742	P.Mtr	70490
	sheeted with 4 core copper conductor 300/500 volts size 10mm2			A Telegraph Co. Will	
	(S.I.No:101 P- No:12)				
			TOTA	1	1012

PART "E" ELECTRIC OLD SCHEDULE ITEMS 2004

1	P/F distribution metal board double shutter to accommodate circuit	8	1426.33	P.Sft	11411
	breakers including painting with enemel paint and for other simmilar			1	
	job on surface (S.I.No:18 P- No:13)				
2	P/F wall bracket light fancy type superior quality including necessary electric connection and fixing on wall oe ceiling etc complete.(S.I.No:5 P- No:33)	37	497.00	Each	18389
3	P/Fenergy sever superior quality including fixing on existing holder etc complete.(S.I.No:6 P- No:33)	55	497.00	Each	27335
4	P/F earthing set with 2x2x1/4" cooper plate burried in groud at a depth of 12" or less if water comes out from the ground level with salt and chorcoal ,etc,in/c.making the pit 12"deep by excavation of all type of	0619	3610.04	Each	7220
5	soil. Earth plat to be connected with No:8 P/F mild steel bar fan clamp 15.8 mm (5/8")dia suitable for RCC roof (S.I.No:1 (c) P - No:14) (S.I.No:1 (c) P - No:14) Training Ill Stitutions of Mild Education and a single suitable for RCC roof (S.I.No:1) (c) P - No:14)	Teachers in 8	and Indh. 141.01	Each	2115

Training Elementary Schools Teachers in Single Ining Flementary School

7	Description of item to be executed at site	Quantities	Rate	Units	Amount
	P/F A.C ceiling fan regulator on metal board recessed in the walls column and covered with plastic sheet (S.I.No:2b P- No:14)	15	124.30	Each	1865
7	P/F Bulb 100 Watts (S.I No. 7 P-33).	6	25.00	Each	150
8	P/F AC or DC electric bell 200/250 volt 70MM. (S.I.No:21 P- No:11)	2	150.70	Each	301
9	P/F flush type electric bell bush button (S.I.No:23 P- No:12)	2	25.19	Each	50
0	P/F 1-40 walts tube light complete with 40 wats4.0" long rod chok, starter and putty with Phillips components including necessory electric connection and fixingon wall or ceilling etc complete. (S.I.No:1 P-No:33)		396.00	Each	3960
			TOTA	L t-	727

Amount	Total	(CSR)
--------	-------	-------

Part "A % Above / Below _____

Part "B % Above / Below _____

Part "C % Above / Below _____

Part "D % Above / Below _____

Part "E % Above / Below _____

Total Amount

Total Amount

Total Amount

Total Amount

Total Amount

Total "A+B+C+D+E"

NON SCHEDULE ITEMS

			TOTAL :-		
2	Providing and laying Guttca brick facing 2 1/4" x 9" x 2 1/4" size of approved design set in cement sand mortor 1:3 i/c filling the joints with white cement slutty using colour pigment for matching, i/c levelling smooth finishing, curring and scaffolding etc complete as per specification and directed by the Engineer Incharge.	4299		P.Sft	
1	Providing & laying floor of Verona marble tiles of size 12" x 12" x 3/4" fine dressed on the surface without winding set in white cement laid over 3 / 4" thick bed of 1:2 grey cement mortar setting the tiles with grey cement slurry, jointing and washing the tiles with slurry of white cement and pigment to match the colour of titles, including curring, grinding, rubbing and chemical polishing etc. complete i/c cutting tiles to proper profile.	12853		P.Sft	

Cost of Bid

1. (A) Cost Based on Composite Schedule of Rates

2. (B) Cost Based on Non/Offered Schedule of Rates

TOTAL COST OF BID (C) = TOTAL (A) + TOTAL (B)

CONTRACTOR

Amount

Capacity Building of Teachers
Training Institutions of M/O Education and
Training Elementary Schools Teachers In Shun.



GOVERNMENT OF SINDH EDUCATION & LITERACY DEPARTMENT Karachi dated the 23-11-2015

NOTIFICATION

NO: SO(G-III)/EDU/E&A/PRO-ADP/14-15: In pursuance of Rule-31 of the Sindh Public Procurement Rules, 2010 a Departmental Complaint Redressal Committee comprising of following Officers is constituted as under to resolve complaint's of aggrieved bidders:-

1. Special Secretary (Schools) Education & Literacy Department, Govt. of Sindh

Chairman

2. Representative of Accountant General,

Member

3. Independent Professional Expert, (to be nominated by Education Department) Member

4. Deputy Secretary (GA), Education & Literacy Department, Govt. of Sindh

Member

5. Section Officer (GIII) Education & Literacy Department, Govt. of Sindh

Member/Secretary

ToRs

- To perform according to Rule-31 of SPPRA, 2010;
- To Perform any other function ancillary and incidental to the above.

-DR. FAZLULLAH PECHUHO-SECRETARY TO GOVT, OF SINDH

NO: SO(G-III)/EDU/E&A/PRO-ADP/14-15 Karachi dated the 23rd November, 2015

C.C.

- 1. All members of the committee.
- 2. The P.S. to Secretary, Education & Literacy Department.
- 3. Office Order File

DEPUTY SECRETARY(GA)



GOVERNMENT OF SINDH **EDUCATION & LITERACY DEPARTMENT** Karachi Dated: 04-11-2016

NOTIFICATION

No.SO(G-I) E&L/CIDA/ 14: In supersession of this Department's Notification of even number dated 20th April 2015 & pursuance of Rule-07 of the Sindh Public Procurement Rules, 2010 (Amended 2013) a Procurement Committee comprising of following Officers for procurement of Civil Work under "Capacity Building of Teachers Training Institutions & Training of Elementary School Teachers In Sindh" -CIDA, Education & Literacy Department is constituted as under;-

 Project Director, CIDA/ Additional Secretary (PDF) Education & Literacy Department

Chairman

2. Project Engineer, PMU (CIDA) Education & Literacy Department Member/Secretary

3. Executive Engineer, Works & Services Department (To be nominated by the Department) Member

Function & Responsibilities of the Committee

- Preparing Bidding Documents
- Carrying out Technical as well as Financial evaluation of Bids
- Preparing evaluation reports as per SPPRA rules
- Making recommendations to the competent authority for award of contracts to the eligible/ successful bidder
- · Perform any other function ancillary and incidental to the above

- DR. FAZLULLAH PECHUHO-SECRETARY TO GOVT, OF SINDH

No.SO(G-I) E&L/CIDA/ 14

dated 04-November-2016

Copy forwarded for information & necessary action to:

All Members of Committee.

The P.S. to Senior Minister, Education & Literacy Department, Govt. of Sindh, Karachi.

The P.S to Secretary, Education & Literacy Department. The P.S. to Secretary, works & Service Department.

The P.S. to Project Director, CIDA

Office Order File



PROJECT MANAGEMENT UNIT CAPACITY BUILDING OF TEACHERS TRAINING INSTITUTIONS & TRAINING OF ELEMENTARY SCHOOL TEACHERS IN SINDH (CIDA) GOVERNMENT OF SINDH EDUCATION & LITERACY DEPARTMENT

ANNUAL PROCUREMENT PLAN

(Works, Goods & Services)

Financial year 2016-17

Sr. No.	Description of Procurement	Quantity (Where applicabl e)	Estimat ed Unit cost (where applica ble)	Estim ated total cost (Milli on)	Funds alloca ted (Milli on)	Source of funds (ADP/No n ADP)	Proposed Procurement Method	Timing of procurements				Remarks
								1 st Qtr	2 nd Qtr	3 rd Qtr	4 th Qtr	
1.	Repair, Renovation and Rehabilitation of 43 Teacher Training Institutions (TTIs) in Sindh (list Attached) /(PMIU)	On need basis		275	275	PSDP	single stage Single envelope procedure	To be initiated in 1 st quarter	To be initiated in 2 nd quarter	To be continued/ completed in 3 rd quarter	To be completed in 4 th quarter	Activities are scheduled as per Cash/ work plan 2016-2017
2.	Professional Development Centres	On need basis	N/A	76.34 8	76.34 8	PSDP	single stage one envelope / single stage two envelope/ two stage two envelope procedure	To be initiated in 1 st quarter	To be initiated in 2 nd quarter	To be continued in 3 rd quarter	To be completed in 4 th quarter	Activities are scheduled as per Cash/ work plan 2016-2017

PROJECT DIRECTOR (CIDA)

S.No.	Name of Institution
1	Government Elementary College of Education (Women) MIRPURKHAS
2	Government Elementary College of Education (Women) DADU
3	Government Elementary College of Education (Women) THATTA
•	
, 4	Government Elementary College of Education (Women) HYDERABAD
5	Government Elementary College of Education (Women) MORO
6	Government Elementary College of Education (Women) LARKANA
7	Government Elementary College of Education (Women) SUKKUR
8	Government Elementary College of Education (Women) KHAIRPUR MIRS Government Elementary College of Education (Women) HUSSAINABAD
9	KARACHI,
10	Government Elementary College of Education (Women) SANGHAR
11	Government Elementary College of Education (Women) SHAH FAISAL COLONY KARACHI
	10
12	Government Elementary College of Education (Men) HYDERABAD
. 13	Government Elementary College of Education (Men) MIRPURKHAS
. 14	Government Elementary College of Education (Men) THATTA
15	Government Elementary College of Education (Men) DADU
16	Government Elementary College of Education (Men) SANGHAR
17	Government Elementary College of Education (Men) MITHIANI
18	Government Elementary College of Education (Men) LARKANA
19	Government Elementary College of Education (Men) KANDHHOT
20	Government Elementary College of Education (Men) SUKKUR



		*
2	21	Government Elementary College of Education (Men) KHAIRPUR MIRS
2	22	Government Elementary College of Education (Men) QASIMABAD KARACHI
2	23	Government Elementary College of Education BADIN
2	24	Government Elementary College of Education MITHI
2	.5	Government Elementary College of Education (Men) LIYARI KARACHI
2	6	Divisional Educational Technology Resource Center HYDERABAD
2	7	Divisional Educational Technology Resource Center KARACHI
2	8	Divisional Educational Technology Resource Center SUKKUR
· 2	9	District Educational Technology Resource Center SANGHAR
3	0	District Educational Technology Resource Center THATTA
3	1	District Educational Technology Resource Center BADIN
3	2	District Educational Technology Resource Center MIRPURKHAS
3	3	District Educational Technology Resource Center DADU
3	4	Government National Agro Technical Teachers Training Center HYDERABAD
3	5	Government In-Service Teachers Training Center HYDERABAD
. 3	6	Regional Education Extension Center KARACHI
, 3	7	Regional Education Extension Center KHAIRPUR MIRS
3	8	Provincial Institute For Teacher Education (PITE) NAWABSHAH
3	9	Government College of Education SUKKUR
4	0	Government College of Education FEDERAL B AREA -15 KARACHI
4	1	Government College of Education JAMIA MILLIA KARACHI
4	2	Shaheed Mohtarma Benazir Bhutto Govt. College of Education LARKANA
4	3	Government College of Education for B.ED classes DAR SANO CHANO

